(TRUSS DOCK APPLICATION SHOWN)

Telescopic Deep Water Brace Hardware Kit/
Ensemble de Pieces d'Entretoises Télescopic pour Eau Profonde (info PN02050)

STep DX ETeR W BRACKET GGTeP #XETAPERD “ALTERNATE STEP #1
1/4 X 2" BOLT/ "U" SUPPORT *ALTERNER ETAPE #1

1/4 NYLOCK NUT/ 1/4 X 1" BOLT, 1/4 NUT FOR 12' TRUSS
?83(L§"N DE ﬁj]‘/ ECROU DE 1/4 NYLOCK DOCK APPLICATIONS, 5/16 X 3/4" BOLT FOR
\y . /
RL

FRAME DOCK APPLICATION

< BOULON DE 1/4 X 1", ECROU DE 1/4 POUR
LEVER NUT/ LES QUAI A FERMES ,ET BOULON DE
ECROU DE LEVIER 5/16 X 3/4" POUR LES QUAI A CADRE

3/8" LOCKWASH
RONDELLE
FREIN 3/8" .-~
EreED
3/8" WASHER/
RONDELLE DE 3/8"
&5
Enee R
3/8 X1 1/2"BOLT/
BOULON DE 3/8 X 1 1/2"

SLEEVE e 3/8 X 2 3/4" BOLT/

BOULON DE
3/8 X 2 3/4"

ONE 3/8" WASHER ON
#~ “EACH SIDE OF LEG/
3/8 NUT/ —© UNE RONDELLE SUR
ECROU DE 3/8 CHAQUE COTE DE
JAMBE

Emee)
*TRUSS DOCK APPLICATIDN STEP #1
j//;\PFFéHmEQN POUR LES ETAPE #
TIGHTEN NUT
JUST ENOUGH TO
ELIMINATE SWAY/
SERREZ L'ECROU
JUSTE ASSEZ
POUR ELIMINER
BALANCEMENT \(

MOUNT "U" BRACKET USING EXISTING

LOOSEN NUT WHEN LEG RETAINER BOLT/

LEVELING OR ADJUSTIN MONTEZ "U" SUPPORW LE BOULON
DU TUBE DE FIXATIO

NIVEAU OU LA HAUTER
DU QUAI

PLACE 2" x 23" BOLT IN THE LOWEST AVAILABLE HOLE/
INTRODUIRE LE " X 22" BOULON DANS LE PLUS BAS

TROU DISPONIBLE
- SEL
EeD

JUNE 14 /2021
WWW. FENDOCK.COM / INFO@FENDOCK.COM / (888) 336-3625 / (613) 722-658 |
DRAWN BY [ DWG NO
|

SwW




TELESCOPIC DEEP WATER BRACE ASSEMBLY

STEP#1: MOUNTING OF "U" BRACKET

TRUSS DOCK APPLICATION-4' ¢ &' WIDE DOCKS:

REMOVE £' NUT ON LOWER LEG RETAINER BOLT AT DEEP END OF DOCK. INSTALL "U" BRACKET WITH NOTCH IN BRACKET FACING UP AND RE-INSTALL %' NUT.

TRUSS DOCK APPLICATION-| 2' WIDE DOCKS:

DETERMINE LOCATION OF "U" BRACKET (ROUGHLY IN THE CENTER OF THE | 2' LOWER TRUSS) DRILL A §' HOLE IN THE BOTTOM OF THE RAIL. MOUNT "U" BRACKET USING %' X 1" BOLT AND NYLOCK
NUT.

FRAME DOCK APPLICATION:

POSITION AND MOUNT "U" BRACKET USING 2" X 2' HEX BOLT ON BOTTOM PORTION OF FRAME DOCK RAIL AT DESIRED LOCATION - PREFERABLY AS CLOSE TO APPOSING LEG AS POSSIBLE. BOLT
WILL SCREW INTO THREADED CHANNEL ON BOTTOM OF FRAME CHANNEL.

STEP#2: INSERT £' X | ' BOLT THROUGH SLEEVE MAKING SURE BOLT HEAD RECESSES IN SLEEVE CHANNEL. BOLT HEAD WILL ONLY FIT INTO ONE SIDE OF THE CHANNEL.
STEP#3: INSTALL £' FLAT WASHER, LOCK WASHER. AND LEVER NUT LOOSELY
STEP#4: INSERT ROD INTO SLEEVE AND GENTLY SNUG LEVER NUT

STEP#5: INSERT #' X 2 BOLT AND WASHER THROUGH LOWEST AVAILABLE HOLE IN LEG AND INSTALL ANOTHER WASHER ON THE OTHER SIDE OF THE LEG. HOLDING 3" NUT IN THE CHANNEL,
THREAD BOLT ONTO NUT, ATTACHING THE SLEEVE TO THE LEG.

STEP#E: LOOSEN LEVER NUT AND EXTEND ROD UP TO MEET MOUNTED "U" BRACKET INSTALLED IN STEP#| . INSTALL £ X 2" BOLT THROUGH BRACKET AND ROD, INSTALL NUT AND TIGHTEN.
STEP#7: DEEP WATER KIT IS NOW INSTALLED. LOOSEN LEVER NUT, ADJUST DOCK TO DESIRED HEIGHT AND SNUG LEVER NUT, ELIMINATING SWAY IN DOCK.
NOTE: HARDWARE FOR ALL APPLICATIONS ARE INCLUDED IN HARDWARE BAG.

ASSEMBLAGE STABILISATEUR EAUPROFONDE

ETAPE #1: MONTEZ SUPPORT EN "U"

QUAI A FERME APPLICATION - QUAIS 4' ¢ &' LARGE:

RETIRE LECROU DE "U" SUR LE PARTIE INTERIEURE DE LA DISPOSITIF DE JAMBE. INSTALLER LE SUPPORT EN "U" AVEC ENCOCHE DANS LE SUPPORT TOURNEE VERS HAUT ET REINSTALLEZ LECROU

in
4

QUAI A CADRE:

POSITIMENT MONTEZ LE SUPPORT EN FORME "U" UTILISANT UN BOULON A TETE HEXAGONALE A LA PARTIE INFERIEURE DE RAIL DE CADRE A LENDROIT DESERER , CEST PREFERABLE D'ETRE AUSSI
PROCHE QUE POSSIBLE A L'AUTRE JAMBE. LE BOULON VIS DANS LE CANAL FILETE A LA FOND DU CADRE.

ETAPE #2: INSERER LE BOULON A TRAVERSE LE MANCHON, S'ASSURANTE QUE LA TETE DE BOULON EVIDEMENTS DANS LA CANAL MANCHON, LA TETE DE BOULON POURRON SEULEMENT ADAPTE
DANS UNE COTE DU CANAL.

ETAPE #3: INSTALLER LA RONDELLE PLATE, RONDELLE DE VERROUILLACE, ET LE LEVIER DUN MANIERE LACHE.
ETAPE #4: INSERT LE TIGE DANS LE MANCHON ET DOUCEMENT SERRE LECROU LEVIER.

ETAPE #5: INSERER LE BOULON ET LA RONDELLE A TRAVERSE LE TROU DISPONIBLE DANS LE JAMBE, LE PLUS BAS QUE POSSIBLE A LE FOND ET INSTALLER UN AUTRE RONDELLE DE L'AUTRE COTE
DE LA JAMBE. TENIR LE ' ECROU DANS LE CANAL FILETE LE BOULON SUR LECROU ENFIXANT LE MANCHON A LA JAMBE.

ETAPE #C: DESERRER L'ECROU LEVIER ET ETENDRE LE TIGE EN PLACE POUR ATTEINDRE LE SUPPORT 'U" QUI ETE DEJA INSTALLER DANS LE PREMIER ETAPE. INSTALLER LE BOULON TRAVERSANT LE
TIGE. INSTALL LECROU ET SERRER.

ETAPE #7: STABILISATEUR DE L'EAU PROFOND EST MAINTENANT INSTALLE. DESERRER LECROU LEVIER, AJUSTE LE NIVEAU DE QUAI ET SERRER LECROU LEVIER

NOTE: QUINCAILLERIE POUR TOUS LES APPLICATIONS SONT INCLUS DANS LE SAC DE QUINCAILLERIE.

JUNE 14 /2021
WWW. FENDOCK.COM / INFO@FENDOCK.COM / (888) 336-3625 / (613) 722-658 |
DRAWN BY [ DWG NO
3

Sw




